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Note:— The maximum marks printed on the , question
paper are applicable for the students of the
NCWERB. These marks will, however, be scaled
down proportionately in respect of the students of
regular colleges (Cat. ‘4’) at the time of posting of
awards for compilation of result.
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All questions are compulsory. Log tables and other

statistical tables shall be provided on demand.

Use of simple calculator is allowed.
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1. (a)

®
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The algebraic sum of 10 items about 8'is —5. Find
its arithmetic mean. Also find coefficient of
variation if standard deviation is 1-5:
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If an asset appreciates by 10% during the first
year and depreciates by 5% during second year

on the value of the first year, find average rate of
change.
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2. (a)
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If the linear trénd equation of a time series is
Y.=100+4x with or1g1n 2010, y-annual, x-annual,
estimate trend value for 2014 and quarterly
change in the trend value.
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If r,=0-8 and b,=0-5, find r,, and by, if
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A person purchases shares @ Rs: 10, 12 and 15-
per share on three different. days. Find the
average price: .

(i) If he invests Rs. 4000, Rs. 6000 and Rs 9000
~ on the 3 days' respethvely

(ii) If he purchases 100 shares, 200 shares, and

300 shares on 3 days respectlvely
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(b)

(a)

(b)
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For a distribution, quartile coefficient of skewness

is ~0-36, lower quartile=8-6 and median=12-3.
Find coefficient of quartile deviation,
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A machine costing Rs. 50,000 is depreciated @

10%, 15% and 12% per annum for 3 years. Find

average rate of depreciation if each year
depreciation is calculated on:

(i) Original Cost
(ii) Book Value.
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Find the arithmetic mean, standard deviation and

the coefficient of variation of first n natural
numbers.
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State different properties of Karl Pearson’s
correlation coefficient.
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Given X=50,Y=60, 04=20, 0y_20 and Cov
(X, Y)=-100. Find:
(i) Correlation coefficient

(ii) Both the regression coefficients.

fear @ X=50, Y=60, 0x=20, 0y-20 3R Cov

(X, Y)=-100. 3@ FIfS :
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 State the properties of regression coefficients.
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Calculate rank correlation coefficient for the
ranks of 10 students assigned by two teachers:

Student | 1 {2 (3| 4)!516|718]9]10

Rank 1 8| 71621212419 (10]5

"Rank2 |9-5/ 8 | 53 |1]|2{6957
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4. (a) Explain time reversal and factor reversal test. Also
test both for Paasche’s formula and Fischer’s
formula.
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- HT
(b) Fit a linear trend equation to the following time
series:
Year | 2005 | 2006 | 2007 | 2008 {2009 | 2010
Annual Production - A
(inmn.tonnes) 10 [ 12 | 15 | 14 | 17 | 20 .

Also estimite produétion of 2015.
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(a) Explain different components of time series ‘with
suitable examples. '
Fd fEA & G geol # ITYFT IR Wled
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(b) Calculate Fischer’s price and the quantity indices
for the following data. Also give interpretation of

“both.

| Product | A B | ¢c | D E
Base | Price 16 25 | 24 | 54 22
Year | Quantity | 30 40 25 16 | "4
Current | Price 40 50 30 40 | 45
Year | value | 720 | 2000 | 1200 | 1320 | 1350°

frefafaq siwel & (o Rem @ s am
o w1 REad e A | e @O
T

| zar | A B C D | E
ememe | S¥wa | 16 25 24 | 54 | 22
| wmn | 30 | 4 | 5 | 16 |
we | @ma | 40 50 |30 40 45

ad qeg: | 720 | 2000 | 1200 | 1320 | 1350

6+8
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